| Efficiency vs Dxy |
> 0.2
<

3 - 5 5 5 5 5 5
0 018 P A I P R
< : : : : : : :
o e e
o O : : : : : :
2 0.14p e e ) A A
© C : : : i : : :
s T I T e
o e

[
||||p|||

....................................................................

Ratio

[=Y
TTTTTTTT]

510 E 0B 1018 50
TP dxy (cm)

—=— DQM _original_step?2_ttbar-phasel-newgeom
| Efficiency vs Dz | —e— DQM_pixelCPE_step2_tthar-phasel-newgeom

0.8 —— DQM_pixelCPEANdChi2_step2_ttbar-phasel-newgeom

0.7

0.6

.....................................................................

efficiency vs dz

0.5

0.4

.....................................................................

0.3

....................................................................

_________ “w

IIII.IIIIIIIIIIIII,'iIIII.IIII

0.2

0.1

1Q

| |e
* |+

Ratio

1.05

.........................................................

¢ ¢

Y

---------- R - & - SRR EEE

B30 20 =10 0 10 20 30
TP dz (cm)



	Contents
	Page 1


